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Real Life Maths Questions

Set 1

Speedy Col made a pile of 90 oranges. She put 56 more 
oranges in the pile. How many are in the pile now?

Pom is 90cm tall. Pim is 84cm tall. How tall are they together?

Pim has 50 apples and his friend gives him 76 more. How many 
apples does Pim have?

There are 20 rocks in one bucket and 92 rocks in another 
bucket. How many rocks are there altogether?

Pom has 83 conkers. Mully has 70 conkers. How many do they 
have altogether?

Remember to:

•	 partition the 2d number
•	 add the tens together
•	 add on the units
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Real Life Maths Answers

They are 174cm tall together. 

There are 146 oranges in the pile.

Pim has 126 apples.

They have 153 conkers altogether.

There are 112 rocks altogether. 

Speedy Col made a pile of 90 oranges. She put 56 more 
oranges in the pile. How many are in the pile now?

Pom is 90cm tall. Pim is 84cm tall. How tall are they together?

Pim has 50 apples and his friend gives him 76 more. How many 
apples does Pim have?

There are 20 rocks in one bucket and 92 rocks in another 
bucket. How many rocks are there altogether?

Pom has 83 conkers. Mully has 70 conkers. How many do they 
have altogether?

Set 1

Remember to:

•	 partition the 2d number
•	 add the tens together
•	 add on the units


